—

S,

Product name: Set concealed faucet Thermo-2F-Olo (SQ)
Product Code: 625039 RUBINETA

PART
CODE

ITEM
NO

NAME QUANTITY

1 PMO015 |Concealed faucet Thermo-2F 1

Shower hose silver 150cm PVC
2 600055 Con/Imp 1

Connection and holder
3 636578 concealed sh.1/2"(sq) ]

4 622158 |Handshower Dove chr. 1

e | 5 636576 |Shower head arm 40cm (sq) 1

Shower head Olo square
6 | 622086 1550x250 (S.5) ‘

P

www.rubineta.com V2202



Product name: Concealed faucet Thermo-2F
Product Code: PM0015

—

S,

RUBINETA

ITEM
NO

PART
CODE

NAME

QUANTITY

—_

637174

Protective cover with spirit level
Thermo-2F/3F

_

631082

Handle Thermo-2F/3F

636140

Decorative plate for Thermo-2F

637171

Screw M4x30 (DIN7985)

639257

Plastic box top for Thermo-2F/3F

Y N [

636483

Temperature control ring
Thermo

j—

635470

Body for thermostaf Thermo-
2F/3F

J—

637167

Thermostat Thermo-2F/3F

N[O N[ O | N [WIN

637173

Screw M4x50 (DIN7985)

637172

Screw M4x35 (DIN7985)

N
—| O

637170

Spring washer M4 (DIN127)

N

635473

Body for check valve for
Thermo-2F/3F

711048

Check valve for Thermo-2F/3F

632198

Stainless steel 1/2" screen mesh

Apply -8 Nm furning
torgue during assembling

Apply 8-T2 Nm furning forque

635472

Base body for Thermo-2F

—=ININ| N | N—=[™|—

during assembling

7ot

Apply 2-4 Nm furning forque
during assembling

o~ O™ |W

639258

Plastic box base for Thermo-
2F/3F

J—

~

632202

Ruber ring (40x30x13,5) for
Thermo-2F/3F

632201

Ruber ring (34x26x11,5) for
Thermo-2F/3F

Apply é-12 Nm furning forque )
during assembling

0| o

632203

O-ring 15x2.5

N
(@)

635471

Top body for Thermo-2F

=IO NN

N

634055

Cartridge for Thermo-2F/3F
(push type)

9?@/

N
N

637163

Cartridge cover for Thermo-
2F/3F

N
w

637169

Spring for button Thermo-2F/3F

N
NG

637168

Button connector for Thermo-
2F/3F

N
()]

636324

Screw M4x8

N
o~

637165

Button for Thermo-2F/3F
(handshower)

— INININDNDN

N
N

637166

Button for Thermo-2F/3F (shower
head)

N
[e0]

637175

Anchor screws (4pcs) for faucet

Thermo-2F/3F

www.rubineta.com

V2202



	Sheet1
	Drawing View3

	Sheet1(2)
	Drawing View2


